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SECTION - A 

1 से 25 तक के प्रश्नों के चणय विकल्ऩ ददए गए हैं। इनभें से केिर एक सही है। 
आऩको उन सही विकल्ऩों को चनुकय उत्तय-ऩत्र भें चचह्ननत कयनण है  

 

1. नई आचथिक नीतत की घोषणण की गई 

(a) जुरणई 1990  

(b) जुरणई 1991  

(c) जुरणई 1992  

(d) जुरणई 2001  

 

2. यणष्ट्रीम आमोग भें वििणदों कण तनऩटणयण ककमण जणतण है 

(a) 5 रणख रुऩमे तक  

(b) 10 रणख रुऩमे तक  

(c) 15 रणख रुऩमे तक 

(d) एक कयोड़ से अचधक 
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3. 'प्रफन्ध एक ऩेशण है।' मह कथन है 

(a) जणजि आय टैयी कण  

(b) अभयीकी प्रफन्ध सॊस्थणन कण  

(c) हेनयी पेमोर कण 

(d) इनभें से कोई नहीॊ 

 

4. तनमॊत्रण प्रफन्धकीम कणमों भें स्थणन यखतण है  

(a) ऩहरण  

(b) अॊततभ 

(c) तीसयण  

(d) दसूयण 

 

5. तनम्नमरखखत भें से कौन सणभणह्जक ऩमणिियण से सॊफॊचधत है ? 

(a) ऩणरयिणरयक सॊयचनण 

(b) उऩबोक्तण सॊयऺण अचधतनमभ 

(c) व्मणऩणरयक सह्न्नमभ  

(d) तनजीकयण 

 

6. एक अच्छे तनमोजन की विशषेतण है 

(a) खचीरी 

(b) सभम अचधक रगनण  

(c) रचीरण 

(d) अऩरयितिनीम 
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7. सभन्िम स्थणवऩत ककमण जणतण है।  

(a) उच्च स्तयीम प्रफन्ध द्िणयण 

(b) भध्मभ स्तयीम प्रफन्ध द्िणयण 

(c) तनम्न स्तयीम प्रफन्ध द्िणयण 

(d) इनभें से कोई नहीॊ 

 

8. विऩणन विचणयधणयण है  

(a) उत्ऩणदन उन्भखुी 

(b) विक्रम उन्भखुी 

(c) उऩबोक्तण उन्भखुी 

(d) इनभें से सबी 

 

9. ह्स्थय ऩूॉजी की आिश्मकतण..........अिचध के मरए होती है। 

(a) अल्ऩ अिचध  

(b) दीघि अिचध 

(c) (a) तथण (b) दोनों 

(d) इन दोनों भें से कोई नहीॊ 

 

10. ऩूॉजी फणजणय भें व्मणऩणय होतण है। 

(a) अल्ऩणिचध कोष  

(b) भध्मणिचध कोष  

(c) दीघि अिचध कोष  

(d) इनभें से कोई नहीॊ 
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11. व्मणऩणरयक बफर मरखण जणतण है। 

(a) के्रतण द्िणयण 

(b) विके्रतण द्िणयण 

(c) फैंक द्िणयण 

(d) सयकणय द्िणयण 

 

12. तनदेशन के भखु्म तत्ि है  

(a) 2 

(b) 3  

(c) 4 

(d) 6 

 

13. अॊतयण ककमण जण सकतण है 

(a) अचधकणय कण  

(b) उत्तयदणतमत्ि कण  

(c) जिणफदेही कण  

(d) इनभें से कोई नहीॊ 

 

14. तनम्न भें से कौन-सण कथन असॊगत है ?  

(a) प्रफन्ध उद्देश्मऩणूि है 

(b) मह एक विमशष्ट्ट प्रकक्रमण है  

(c) प्रफन्ध सणििबौमभक है 

(d) प्रफन्ध स्िणमभत्ि से अरग नहीॊ है  
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15. नई आचथिक नीतत के प्रभखु अॊग है / हैं 

(a) उदणयीकयण  

(b) िशै्िीकयण  

(c) तनजीकयण  

(d) इनभें से सबी 

 

16. कभिचणरयमों की स्िेच्छण ऩय तनबिय कयतण है 

(a) औऩचणरयक सॊगठन  

(b) अनौऩचणरयक सॊगठन 

(c) कक्रमणत्भक सॊगठन 

(d) विबणगीम सॊगठन 

 

17. प्रमशऺण की विचध (मणॉ) है/हैं 

(a) सम्भेरन  

(b) व्मणख्मणन 

(c) प्रमशऺणणथी प्रमशऺण  

(d) इनभें से सबी 

 

18. अमबप्रेयक सणधनों के तनधणियण कण ..........आधणय होनण चणदहए। 

(a) सणभदूहक  

(b) व्मह्क्तगत  

(c) कृत्म  

(d) इनभें से सबी 
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19. व्मणिसणतमक उऩक्रभ भें तनमॊत्रण की आिश्मकतण होती है 

(a) व्मिसणम की स्थणऩनण के सभम  

(b) तनयॊतय  

(c) व्मिसणम के सॊचणरन के सभम 

(d) िषि के अॊत भें 

 

20. वित्तीम प्रफॊध कण भखु्म कणमि है। 

(a) वित्तीम तनमोजन 

(b) कोषों को प्रणप्त कयनण 

(c) शदु्ध रणब कण आफॊटन  

(d) इनभें से सबी 

 

21. तयरतण कण तनभणिण होतण है। 

(a) सॊगदठत फणजणय भें  

(b) प्रणथमभक फणजणय भें  

(c) गौण फणजणय भें 

(d) असॊगदठत फणजणय भें 

 

22. अच्छे ब्रणण्ड के मरए आिश्मक है/हैं 

(a) छोटण नणभ 

(b) मणद यखने मोग्म 

(c) आकषिक डडजणइन 

(d) इनभें से सबी 
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23. उऩबोक्तण सॊयऺण अचधतनमभ के अॊतगित आते हैं 

(a) नौकयी सॊफॊधी वििणद  

(b) दोषऩणूि उत्ऩणद/सेिण सम्फन्धी उत्ऩणद 

(c) औद्मोचगक दघुिटनण सम्फन्धी दणिण  

(d) इनभें से सबी 
 

24. तनम्न भें से कौन उद्ममभतण की विशषेतण नहीॊ है ? 

(a) जोखखभ रेनण 

(b) निणचणय 

(c) प्रफन्धकीम प्रमशऺण  

(d) सजृनणत्भक कक्रमण 
 

25. अचधकणय कण हस्तणॊतयण नहीॊ ककमण जण सकतण है  

(a) दैतनक कणमि कण  

(b) गोऩनीम कणमि कण 

(c) सणधणयण कणमि कण 

(d) सयर कणमि कण 
 

II. प्रश्न सॊख्मण 26 से 30 तक के प्रश्नों भें से प्रत्मेक प्रश्न भें दो कथन (कथन I एिॊ 
कथन II ) ददए गए हैं। दोनों कथनों को ऩढें तथण विकल्ऩ (a), (b), (c) एिॊ (d) से सही 
उत्तय चनुें : 

(a) दोनों कथन सही हैं तथण कथन II कथन I की सही व्मणख्मण है 

(b) दोनों कथन सही है, ऩयन्तु कथन II कथन I की सही व्मणख्मण नहीॊ है।  

(c) कथन I सही है, ऩयन्तु कथन II गरत है  

(d) कथन I गरत है, ऩयॊतु कथन II सही है 
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26. कथन-I : प्रमशऺण एक सतत ्प्रकक्रमण है।  

कथन-II : प्रमशऺण प्रफन्ध के सबी स्तयों के मरए आिश्मक है।  

 

27. कथन-I : कणमिशीर ऩूॉजी = चणर ूसम्ऩवत्तमणॉ - चणर ूदणतमत्ि 

कथन-I : कणमिशीर ऩूॉजी = दणतमत्ि - सम्ऩवत्तमणॉ 

 

28. कथन-I : प्रफन्ध एक सणभदूहक कक्रमण है।  

कथन-I : प्रफन्ध एक गततशीर कणमि है। 

 

29. कथन-I : सॊगठन एक ढणॉचणगत फे्रभिकि  है ह्जसके अॊतगित विमबन्न कक्रमणओॊ को 
सभह्न्ित ककमण जणतण है। 

कथन-II : सॊगठन प्रफन्ध कण भहत्त्िऩणूि कणमि है।  

 

30. कथन-I : अशण कण क्रम-विक्रम स्कन्ध फणजणय भें होतण है। 

कथन-II : अॊशों कण क्रम-विक्रम ऩूॉजी फणजणय भें होतण है। 

 

11. तनम्नमरखखत प्रश्न सॊख्मण 31 से 34 तक भें दो तणमरकण ददमे गमे हैं। तणमरकण I भें 
चणय हैं, ह्जनके उत्तय को तणमरकण II भें ददमे गमे चणय विकल्ऩ (a), (b), (c) तथण (d) भें 
से चनुनण है 

तणमरकण-I      तणमरकण-II 

31. बती के सणधन   (a) कभिचणयी 

32. चमन के फणद    (b) ऩदोन्नतत 

33. विकणस      (c) ऩदस्थणऩन 

32. विकणस कण उद्देश्म   (d) आॊतरयक तथण फणनम 
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IV. प्रश्न सॊख्मण 35 भें एक उद्धयण ददमण गमण है। इसके सणथ तीन प्रश्न ददए गए हैं। 
इन प्रश्नों कण उत्तय ददए गए विकल्ऩों भें से चनुकय उद्धयणों के आधणय ऩय दें :  

 

35. उद्धयण : सेफी की स्थणऩनण 1988 भें प्रततबतूत फणजणय के व्मिह्स्थत तथण स्िस्थ 
विकणस को सॊबि फनणने के मरए तथण तनिेशकों को सॊयऺण प्रदणन कयने की दृह्ष्ट्टकोण से 
की गई। सेफी (SEBI) कण प्रफन्धन एक नौ सदस्मीम फोडि के द्िणयण ककमण जणतण है औय 
इसके अध्मऺ की तनमहु्क्त केन्रीम सयकणय द्िणयण की जणमेगी। केन्रीम सयकणय द्िणयण 
नणभणॊककत दो केन्रीम भॊत्रणरम के अचधकणयी, ह्जन्हें वित्त तथण कम्ऩनी अचधतनमभ 
सम्फन्धी व्मिहणय कण अनबुि हो, रयजिि फैंक ऑप इॊडडमण द्िणयण नणभणॊककत एक सदस्म 
एिॊ ऩणॉच सदस्म ह्जनकी तनमहु्क्त केन्रीम सयकणय द्िणयण होगी, ह्जनभें कभ-से-कभ तीन 
ऩणूिकणरीन सदस्म होंगे। 

 

I. सेफी (SEBI) के फोडि भें सदस्मों की सॊख्मण है  

(a) 9 

(b) 3  

(c) 5  

(d) 2 

 

II. केन्रीम सयकणय द्िणयण तनमकु्त सेफी (SEBI) फोडि भें सदस्मों की सॊख्मण है  

(3) 4  

(b) 5  

(c) 3 

(d) 9 
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III. सेफी (SEBI) की स्थणऩनण कण उद्देश्म 

(a) शमेय फणजणय के तनमभन के मरए  

(b) तनिेशकों के दहतों के मरए  

(c) (a) औय (b) दोनों  

(d) दोनों भें से कोई नहीॊ  

 

SECTION - B 

 

प्रश्न सॊख्मण 1 से 10 तक रघ ुउत्तयीम कोदट के हैं। प्रत्मेक प्रश्न के मरए तीन अॊक 
तनधणिरयत है। 

 

1. प्रफन्ध के मसद्धणन्तों की प्रकृतत तथण विशषेतणओॊ को मरखें।  

2. िऻैणतनक प्रफन्ध से आऩ क्मण सभझते हैं ? 

3. उदणयीकयण के अथि को मरखें। 

4. तनमोजन की सीभणओॊ कण िणिन कयें। 

5. “अचधकणय कण बणयणऩिण ककमण जण सकतण है, उत्तयदणतमत्म कण नहीॊ।" स्ऩष्ट्ट कीह्जए। 

6. बती के विमबन्न फणनम स्रोतों की सचूी फनणइमे।  

7. कणमि ऩय प्रमशऺण एिॊ कणमि से दयू प्रमशऺण भें अॊतय स्ऩष्ट्ट कयें।  

8. प्रफन्ध के तनदेशन कणमि के तत्िों कण िणिन कीह्जए। 

9. स्थणमी ऩूॉजी की आिश्मकतण को प्रबणवित कयने िणरे घटकों को मरखें। 

10. विक्रम सॊिद्िधन की विशषेतणओॊ को मरखें। 

 

प्रश्न सॊख्मण 11 से 15 तक दीघि उत्तयीम कोदट के हैं। प्रत्मेक प्रश्न के मरए 6 अॊक 
तनधणिरयत है। 
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11. "विऻणऩन ऩय ककमण गमण व्मम फफणिदी है।" क्मण आऩ इस फणत से सहभत हैं ? अऩने 
उत्तय के सभथिन भें कणयण दीह्जए। 

 

12. उद्ममभतण से आऩ क्मण सभझते हैं ? उद्ममभतण की ककन्हीॊ तीन आिश्मकतणओॊ कण 
िणिन कयें। 

 

13. आधतुनक मगु भें वित्तीम तनमोजन के भहत्त्ि कण िणिन कयें। 

 

14. "भनषु्ट्मों को केिर भौदरक प्रोत्सणहन द्िणयण ही अमबपे्ररयत नहीॊ ककमण जण सकतण, 
उन्हें अमबप्रेरयत कयने के मरए अभौदरक अमबप्रेयकों की बी आिश्मकतण है।" इस सॊदबि भें 
अभौदरक अमबपे्रयकों की व्मणख्मण कयें।  

 

15. व्मणिसणतमक सॊगठन भें सॊदेशिणहन के भहत्ि की वििेचनण कयें। 

 

 

 

******** 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2013 
इंटरमीडिएट परीक्षा - 2013 

(ANNUAL / वार्षिक)  

BUSINESS STUDIES 

Time: 3 Hours 15 Minutes]                  [Full Marks: 100 

 

SECTION-A 

I. In question nos. 1 to 25 there are four options but only one is correct. You have choose 

that correct answer and mark in the Answer sheet 

 

1. New economic policy was declared in  

(a) July 1990  

(b) July 1991  

(c) July 1992 

(d) July 2001 

 

2. National Commission can settle disputes 

(a) up to Rs. 5 lakhs 

(b) upto Rs. 10 lakhs 

(c) up to Rs. 15 lakhs 

(d) above Rs. 1 crore 

 

3. "Management is a profession." This statement is of 

(a) George R. Terry 

(b) American Management Association 

(c) Henry Fayol 

(d) None of these 
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4. Control is the (d) None of these function of the management 

(a) first 

(b) Last  

(c) Third 

(d) second 

 

5. Which of the following is related with social environment? 

(a) Composition of families 

(b) Consumer Protection Act 

(c) Business law 

(d) Privatisation 

 

6. The feature of a good plan is 

(a) Expensive 

(b) Time consuming 

(c) Flexible 

(d) Rigid 

 

7. Co-ordination is established by  

(a) Top level management 

(b) Middle level management 

(c) Lower level management 

(d) None of these 

 

8. Marketing concept is 

(a) Production co-oriented 

(b) Sales oriented 

(c) Customer oriented 

(d) All of these 
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9. Fixed capital is needed for......... period. 

(a) Short period 

(b) long period 

(c) both (a) and (b)  

(d) None of these 

 

10. Capital market deals in 

(a) Short term funds 

(b) medium term funds 

(c) long term funds 

(d) None of these 

 

11. Commercial bill is written 

(a) by purchaser  

(b) by seller 

(c) by bank 

(d) by the government 

 

12. Main elements of direction are  

(a) 2 

(b) 3 

(c) 4 

(d) 6 

 

13. Delegation of............ can be done. 

(a) Authority 

(b) Responsibility 

(c) Accountability  

(d) None of these 
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14. Which of the following statements is inconsistent ? 

(a) Management is purposeful 

(b) It is an instinct process 

(c) Management is universal 

(d) Management is not separate from ownership 

 

15. Component (s) of new economic policy is / are 

(a) Liberalisation  

(b) Globalisation 

(c) Privatisation 

(d) All of these 

 

16............ depends on the wall of the employees. 

(a) Formal organisation 

(b) Informal organisation 

(c) Functional organisation  

(d) Divisional organisation 

 

17. Method (s) of training is/are 

(a) Conference 

(b) Lectures 

(c) Apprenticeship 

(d) All of these 

 

18. Motivational means should be determined on the basis of 

(a) Group 

(b) Individual 

(c) Job  

(d) All of these 

 

bsebresult.in



 

 

19. In a business enterprise controlling is required 

(a) at the time of setting up of business 

(b) continuously 

(c) at the time of operation of business 

(d) at the end of the year 

 

20. Main functioin (s) of financial management is/are 

(a) Financial planning  

(b) Procurement of funds 

(c) Allocation of net profits 

(d) All of these 

 

21. Creation of liquidity took place in 

(a) Organised market 

(b) Primary market  

(c) Secondary market 

(d) Unorganised market 

 

22. Essential(s) of a good brand is/are 

(a) Short name  

(b) easy to remember 

(c) attractive design 

(d) all of these 

 

23. Consumer Protection Act covers 

(a) Disputes relating to service  

(b) Disputes relating to defective products / services 

(c) Claims relating to industrial accidents 

(d) All of these 
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24. Which of the following is not the feature of Entrepreneurship 

(a) Risk 

(b) Innovation 

(c) Managerial training  

(d) Creativity 

 

25. Authority cannot be delegated of 

(a) Routine work 

(b) Secret work 

(c) Ordinary work 

(d) Easy work 

 

II. In question nos. 26 to 30 there are two statements (statement I and statement II) given 

for each question. You have to read both the statements and choose the correct answer 

from the options (a), (b). (c) and (d). 

26. Consider the following statements: 

Statement-I Training is a continuous process.  

Statement-II: Training is necessary at all levels of management. Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement 1. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false.  

(d) Statement I is false, but statement II is true. 

 

27. Consider the following statements: 

Statement-1: Working Capital = Current assets - Current Liabilities. 

Statement-11: Working Capital = Liabilities - Assets 

Of these statements:  
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(a) Both the statements are true and statement II is the correct explanation of statement 1. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I.  

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

28. Consider the following statements :  

Statement-I : Management is a group activity. 

Statement- II : Management is a dynamic function.  

Of these statements:  

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement 1. 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

29. Consider the following statements: 

Statement-I : Organisation is a structural framework within which various efforts are co-

ordinated. 

Statement-II: Organisation is the important function of management 

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement 1. 

(c) Statement 1 is true, but statement II is false.  

(d) Statement I is false, but statement II is true. 
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30. Consider the following statements: 

Statement-I: Shares are purchased and sold in stock market. 

Statement-II: Shares are purchased and sold in capital market. 

Of these statements 

(a) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(b) Both the statements are true and statement II is the correct explanation of statement I. 

(c) Statement I is true, but statement II is false. https://www.bsebstudy.com 

(d) Statement I is false, but statement II is true.  

 

III. In the following question nos. 31 to 34, there are two columns. Column I contains 4 

items. You have to match the correct options of these questions as (a), (b), (c) and (d) 

from Column-II: 

Column-I      Column-11 

31. Sources of recruitment   (a) Employee 

32. After selection     (b) Promotion  

33. Development     (c) Placement 

34. Objective of development   (d) Internal and External 

IV. In question no. 35 there is a paragraph followed by three questions. You have to 

choose the correct answer from the alternatives on the. basis of the paragraph: 

35. SEBI was set up in 1988 to regulate the function of the security markets with a view 

to promote their orderly and healthy development and it has been established from the 

viewpoint of providing security to investors. The management of the SEBI vests in the 

Board which consists of nine members. Chairman of the board is to be appointed by 

Central Government. Two members from amongst the officials of central ministries 

having experience of dealing in finance and company law, one is to be appointed by the 

Central Government of whom at least three shall be full time members. 
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I. The number of members in the board of SEBI is 

(a) 9 

(b) 3  

(c) 5  

(d) 2  

 

II. The number of board members appointed by the Central Government is  

(a) 4 

(b) 5 

(c) 3 

(d) 9 

 

III. SEBI was set up 

(a) to regulate the share market 

(b) to protect the interest of investors 

(c) for both (a) and (b) 

(d) neither of the two 

SECTION-B 

Question nos. 1 to 10 are of short answer type. Each question carries 3 marks: 

1. State the nature and characteristics of Principles of Management.  

2. What do you mean by Scientific Management? 

3. State the meaning of Liberlisation.  

4. Describe the limitations of planning. 

5. Authority can be delegated, but not responsibility." Explain. 

6. Mention the different external sources of recruitment. 

7. Explain clearly the difference between on the job training and off the job training. 
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8. Explain the elements of directing function of management. 

9. State the factors affecting the requirements of fixed capital. 

10. Enumerate the sales promotion. 

 

Question nos . 11 to 15 are of long answer type. Each question carries 6 marks: 

11. "Money spent on advertising is a waste." Do you agree with this view? Give reasons 

in your answer.  

12. What do you mean by Entrepreneurship? Explain any three needs of 

entrepreneurship.  

13. Explain the importance of financial planning in modern age, 
 

14. "Human beings cannot be only motivated through monetary incentives, non-

incentives, non-monetary incentives are also necessary to motivate them." Explain about 

non-monetary incentives in this context.
 

15. Discuss the importance of communication in any business organisation. 
 

 

****** 
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